The Verb ‘to be’ (Present Tense)

Affirmative

I

am

He
She
It

is

You
We

are

cold.

They

Fill in the gaps using the correct form of the verb ‘to be'.
1.1 hungry.

N

She playing football.

You in the classroom.

He writing.

They reading.

We playing a game.

N o o Fw

It a sunny day.

Disclaimer: This resource has been made for the purpose of teaching English language learners. We know that students can be learning English in many different places, in many different ways and at age,
so we try to keep these resources as general as possible.

There are many acronyms associated with English language teaching. These include (but are not limited to) ELT, TEFL, EFL, ELL, EAL and ESOL. While the term ESL may not fully represent the linguistic
backgrounds of all students, it is the most widely recognised term for English language teaching globally. Therefore, we use the term ‘ESL in the names of our resources to make them easy to find but they are
suitable for any student learning to speak English
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Affirmative Contractions

The Verb ‘to be’ (Present Tense)

I

)

m

He
She
It

cold.

You
We
They

)
re

Fill in the gaps using the correct form of the verb ‘to be’.

1. He

2. She

They
It

in the hall.

raining.

You

at school.

N o 0 Fow

on the phone.

walking to school.

playing football.

in the library.
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Negative

The Verb ‘to be’ (Present Tense)

I

am not

He
She
It

is not

cold.

You
We
They

are not

Fill in the gaps using the correct form of the verb ‘to be’.

1. She

writing.

You

playing football.

in the classroom.

They
It

We

a sunny day.

reading.

He

playing a game.

N o 0 & W N

I

hungry.
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The Verb ‘to be’ (Present Tense)
Negative Contractions

I 'm not

He
She isn't
Tt cold.

You
We aren't
They

Fill in the gaps using the correct form of the verb ‘to be’.

1. They walking to school.
2. He playing football.

3. We in the hall.

4. You at school.

5. It raining.

6. We in the library.

7.1 on the phone.
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The Verb ‘to be’ (Present Tense)

Singular

I am/am not

He

She is/is not

Tt cold.
You are/are not

Replace the pronouns with proper nouns.

is on the playground.

is not in the library.

Plural

We

are/are not in the classroom.
They

Replace the plural pronouns with proper nouns.

and are on the

playground.

and are not in the library.

Now write your own sentences using different forms of the verb ‘to be'.
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The Verb ‘to be’ (Present Tense)

The Verb ‘to be’ (Present Tense)
Answers

Affirmative
1. T am hungry.

2. She is playing football.
3. You are in the classroom.
4. He is writing.

5. They are reading.

6. We are playing a game.

7. It is a sunny day.

Affirmative Contractions
1. He's walking to school.

2. She’s playing football.
3. They're in the hall.

4. It's raining.

5. You're at school.

6. We're in the library.

7. I'm on the phone.

Negative
1. She is not writing.

2. You are not playing football.
3. They are not in the classroom.
4, It is not a sunny day.

5. We are not reading.

6. He is not playing a game.

7. I am not hungry.
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Negative Contractions

1.
2.
3.

They aren’t walking to school.

He isn't playing football.
We aren't in the hall.
You aren't at school.

It isn’t raining.

We aren’t in the library.

I'm not on the phone.

The Verb ‘to be’ (Present Tense)
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